STIII]EN‘?

( ' Time : 2'4 Hours
L Second Year — March 2018 J ' Cool-off ime : 15 Minutes
Part — 111
ECONOMICS

Maximum : 80 Scores

(General Instructions to Candidates : \

® Thereis a ‘Cool-off time’ of 15 minutes in addition to the writing time.

® Use the "Cool-off time’ to get familiar with questions and to plan your answers.
® Read questions carefully before answering.

® Read the instructions carefully.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® (Give equations wherever necessary.

® FElectronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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(Qn. No. 1 to 4) Choose the correct answer for the following. Each carries One

Score. : (Scores : S x1=5)
47 Central problems of an economy arises due to which one of the following :

(a) Relative scarcity of resources.

b) ABundance of labour and capital.

(¢) Limited human wants. ’

(d) None of the above

The GDP and GNP of an economy will be equal when :

1=

(a) The value of Net Factor Income trom abroad positive.
(b) The value of Net Factor Income from abroad negative. .
(¢) The value of Net Factor Income from abroad zero.

(d) The value of Net Factor Income from abroad is equals 1.

& The ratio between stock of money supply and stock ot high powered money is :
(a) Currency Deposit Ratio (CDR) |
(b) Reserve Deposit Ratio (RDR)
(c) Open Economy Multiplier
(d) Money Multiplier

4. Write the economic term for the following :

(a) The situation when people become -more thrifty. the economy will end-up saving
less. ' (Score : 1)

(b) The receipts of the Govt. which create liability or reduce tinancial assets. (Score : 1)

5. Match column B and C with A. (Scores : 3 x1=3)
T s [ <
S S S — —
| () Monopolistic ‘ (1) Single Seller ‘ (1) Differentiated Products
Competition | |
—————————— T e T )
(b) Monopoly ' (11) A few Sellers J (i1) Homogeneous or
[ | . Differentiated Products
D — 1
’ (c) Oligopoly ’ (ii1) Fairly large ‘ (1i1) Absence of Substitutes |
number of sellers
L i e |
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Answer all questions from 6 to 14. Each question carries 2 Scores. (Scores

6. Two short run product curves of a tirm are given below.:

(a)
(b)

Qutput

o

o Input
Name the curve (1) and curve (2) in the diagram.

Write any one relationship between the two curves.

7. The demand and supply function ot'a commodity are given below :
q°=80-2P
q> =60+ 2P

Find the equilibrium price and equilibrium quantity.

:9x2=18)

8.  Following data shows the level of total expenditure of an economy during a particular
year. Calculate GDP,;,

(a)
(b)
(c)
(d)
(e)

Items T in crores
Private final consumption expenditures(C) 6.500

Government consumption and investment expenditures(G)  5.000

Private Final Investment Expenditure (1) 4,000
Export (X) 600
Import (M) | 900

9.  Calculate price elasticity of demand at point A and B by using geometric equation from
the following linear demand curve.

9026
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((sq}godqu': 9x2=18)
0.  ®B0]9L6H @)emiglead @ene ejam Qi:sBUd ©2eY GIClenoM; :

Output

\© ©)
0 Input

(a) coauall@momileel Ql@o (1) Qld@o (2) ag)mrﬂm@);ens Gal® af)9)®)d>.

(b)  ©mME lwemUd @aAEI ]SS GOMBEL 0] UTWO af)P)OND.

7. 80}Mowmalnmg €aionm @IB0M WAZABUE @I6Y HB:0S)GTalElem N :
q®=80-2P
q> =60 +2P
avameilo alleiw)e Fuael® R8O kbere)ailsies)s.

8. 80) e AURHOMG@ 80) TUMIE AIITLNWIOE! HAOBTD Saielal” MIeINIo.
@06y @arigens. GDP, , &:6mMe60s8)0.

Mo ' T camosloiod
(a) (mjaa;oﬁbg @RABIA ©alCEIW) Ha1einN@:Ud (C) 6,500
(b) mmmfaooglmg Daleeow Mledtal (G) Halelndmud 5,000
(¢) U0y Gracia Mlessal G)QJQOJ;@:UES (I)' 4,000
(d) ee;m)g;";(aﬂ (X) 600
© oev@ai (M) 900

9.  ©@o6Y ®™aiges eMBcraId GalddM al@OMIE3 Mlmle ‘A’ agam milmaileaiw)e ‘B’
af)am enilm)aicei)e Ga198MEloag allel DeNTld® daMENIBN)s.

D

Price

0 Quantity Demanded D
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10.

11.

12.

14.

9026

Following data shbws the money supply of an economy. Calculate M, and M.

Items (X in crores)
(a) Total currency notes and coins with the public 20,000
(b) Net demand deposits with commercial banks 40,000
(c) Savings deposits with post office Savings Bank 1.000
(d) -Net time deposits with the commercial banks 3,000

“Total Revenue curve of a firm under perfect competition is an upward sloping straight

line passing through origin.” Give two points to support the statement.

Following are the two statements that the consumers and investors of an economy can

enjoy with foreign trade.

Statement 1 : Consumer’s and firms have the opportunity to choose between domestic

and foreign goods.

Statement 2 : Investors have the opportunity to choose between domestic and foreign

assets.

Identify the linkages that corresponding to each statement.

Classity the following items into Revenue Receipts and Capital Receipts.
(i) Govermnment collected T 20 crores as Goods and Service Tax (GST).
(ii) Govt. borrowed T 50 crores from RBI by selling treasury bills.

(iii) Govt. raised an amount of ¥ 10 crores through disinvestment.

(iv) Govt. received ¥ 5 crores as interest receipts of loans given by Central Govt.

Draw an imaginary production possibility Frontier and mark a point which
represents fuller utilization of resources and a point which represents under utilization
of resources.
-6
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0. 80) quaus” AIMNIeE! aleM (IWIM alaiesnud @Iey @aMdlemnan). M, 9o

M; Qo @®EMANIIN) D>

o R ca0slolad)
(8) Oa®MBRMHETIOM HOBHAUNDBS HOMAV! CMOFBHBo MIMWEBBo 20.000
(b) anemley mos,aglee @og wlaoad micasalo 40.000
(¢) Ga1gROadlay alleasal sToB Bl CVMIIBY THlesMalo 1.000
(d) csosmiley e eslee @nQ munle MlcaMalo 3.000

1. “cvouden @lsaceodled 80) 2epp8s @Eiglaod ea0om aI@@dm  Qlgo
adeHlmlenns &san) MGSIGEISS IOV HaldIMAN  CMBCORI0  Al@@dsMm.”
(IMOAUMHWD TVIWIBHBIBN)IN OENE CaloDBITYHUB af)$)®).

120 &) quaud’ Aol 9alceISmOEoddNe Mleataldda9) allerdud aIPaldo-
OTIENHS CMFo DENROLHIMT BHFWIAN BMNE (UTROOIMGHUB @06 GATIBlER)AN).

eJapoaum 1 @ @apeijme, alledrd oeMmenElad  dlan  amEeINS)EeId
DaIGEISMISNUIED o DL(OBH WTIQIBHUBHe)o @RAITLON)EE.

(IapoQIm 2 : @Reyane, alledw @RAYlHSEIEd @mlan) OmMEOaTNS)NIT TGCHUaI-
SReS @rAITLOA)NE.

63060 CQLOAAM 0D MIMLe|g elleeeaV)d0d GHldlaolw)s.

13. @py @aig)ss sHmemes 0aImy) AUE)AIMoe, MEIWM QAUOAIMe af)ITIEBOM ®0o
Nl o).

(1) 21088 cavaim mlenail (GST) lenes walemdeaad 20 ¢8081 0)al cuoaIdlal).
(i) RBI g“(sngo] mﬂggaﬂa oﬂgcaﬂeqas cno_lmaomag' 30 e508] @)at dhSo QOETHL.
(iii) adlaigpadeaigueaaddienss waledeaad 10 e¢d:0s] @jal Ao

(iv) e VAUMBOATT 60501 AOQSSITICaL 85 alelvdmosilod nIedeand
5 €08 @)t MUfiddlay).

14. ae; qvosels: 9e/08m TLOW®E @REIC (Qio) Aoy aleaims)ps aiden
allvlcwow  eilmjale, alleaanges @RalopPq) aldlecwow  silmane
@ARSWOROQ|S)TIND:. :
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Answer any 6 questions from 15— 21. Each carries 3 Scores. (Scores : 6 X3 = 18)

15.  Graphically illustrate the determination of equilibrium exchange rate under flexible

exchange rate system.

16.  Calculate price elasticity of supply at points *s™ in the following diagrams.

Price Price
D s/ | D
/ ; 45
m o q Qutput olm q Output
(A) ' (B)
Price
S
p
0 /m q Qutput
(&)

17. “Modem Macro Economics is the oft shoot of the Great Depression of 1929.” — Write

any three points to support the statement.

18. The diagram represents the profit maximizing level of output in a particular market

structure.

]

/

ot q, 4, q, q, Output

Revenue/Cost

(a) - Identify the market structure mentioned in the diagram.
(b) Name the curves labelled as curve (1) and curve (2).

(c) Identify the profit maximizing level of output.
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15 - 21 190 agom®rles)o 6 Galo3 BB e 2OMONAm)d:. 3 ¢apod aflme.

(capodav’: 6 x 3 =18)
15, an@anas aldla® dless anaauoeles: cvamel® aldaw aloss midepeo

0100 N@oolenes alaidee)s.

16. @0y (6)@15;@2 CRaIOa NOEBEOEI S* af)om snilmjailo @isom ailer grenaileo

BENEN I D>
Price Price
p > P
/ - 45¢
m o q Output om q Output
(A) (B)
Price
S
B
-D/m q Output
©)
17. 1929 @&l Gelod MOMIGIH: 20MBIETION alidansdsjwosmy RRYUWIHS quo)e

aLOMUIBYS S croog’r(};o‘.” - (AITROAUMHD TLOWBHAIHN)IN A} GaL@AGBUB af) 9 ).

18. 80} (ICOiH @Hemog eeISMOIeal £108 aloaoaiulldemam 9ejam  all®momo

coa 0 M@ @oamlafldlaniamn).

2

S K
—

=

<

el

S

&

¢

0 q, 49, - 49, q, Output

(é) €60 I@OHI@B TV)a Nlaflafldlenan @emiog ~eism Gldlajdlw)s.
(b) Qi (1), aligro (2) a)MIERHM COELIONQSIBITNW QIHEOBBINS CGalOQPITH >

(¢) 219 ale@OAIUSIWIBHIM De|aM afl@OMe GGl ajcla)d:.
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In an economy, if marginal propensity to consume (MPC) = 0.6 and marginal

propensity to import (MPM) = 0.05, calculate :
(a) Tax Multiplier
(b) Govt. Expenditure Multiplier

(c) ~ Open Economy Multiﬁlkk

Governments have mostly depend on borrowings for meeting its budgetary deficits. But
this wovt. debt act as a burden on future generation. Do you agree with this statement ?

Substantiate.

Classity the followings into short run and long run production function :
{a) Law of variable proportion
(b) Retumns to scale

(c) All inputs are variable

“(d) Some inputs kept constant

92026

(e) Factors are changing proportionately

(f) Law of diminishing marginal product

Answer any 4 of the following from 22 - 27, Each carries 5 Scores. (Scores : 4 X 5 = 20)
(a)  MWustrate graphically the price fixation action ot the government to protect the
consuners from hage price rise. (Scores : 3)

(hy  Stare ans tuo consequences of this action on consumers. (Scores : 2)

In a two sector economy, consumption tunction C = 80 + 0.0 y, Autonomous

avestment 1 = 30 crores,
(a}  Caleulate the value of output multiplier. (Score : 1)
(b) Find the aggregate demand and equilibrium income in the economy. (Scores : 3)
(¢) If investment increases to ¥ 60 crores calculate its “effect on equilibrium
tncome. (Score : 1)
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19.

20.

80)] avaus AlIMEEIE M2 Baleedw alelal (MPC) = 0.6 Do gNOLNAGH
eateial (MPM) = 0.05 @ryerm':

(a)  SOBITY M) idho

(b) wvaiedeand valeial VM0

(¢) @O auMuE QIUTLO U}Mo

sTuRQ &e0) @am’mc alQAN@IM’ wmm&amqg' DU DOW]o @RYUHWN NG 90D
QYO of)NIM3 EHD wmm&amc@’ 10 edall mem;og 0 NIOWIEWOETT.
(ITROAIM EWISS GO H9)AM)EENED 7 TVYW)EGI B8],

@06¥ MAMIGYRR HMEMBOG (OTVIGHOLI DLJOBM Wdamoe, dldaeisoer 9epam wdaene
af)IEBOM EnOo TGN :

5 (a) afleedaomian® diwas

L
S

23.
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(b) CEOIGINNAIVELBS (I §Wo

(©)  apg)o rleaivema)e aogalewoaosy

(d) afler olicaivoemad aﬁdcoiz’qomﬂ mleimldamam)
(e) ~aISHEMUB ARYMAIOGISHRW 20g6a|SIM]

(f)  @Ralaiw milaoam pejam mloae

22 ~ 27 e ca1synglcd ago@@lele 4 afgROTIm OMOAY)®)d:. 5 capod

alloo. (capodav’: 4 x 5 =20)

(2) QaIGERHBOLNOS AUsO® oodon ailel mleiooosiad mlan)e
qoassileaymaiimal  waemendd @sewseileles aflel dluniissiam

(AUBEINIOW B0} Goa A lmETIOnd Ma00REI® aflidlos)d.  (capoday’: 3)

(b) gn@NDo Ln_lm@mmm’lengas @uc@omomgﬁmﬂ DErBOBY)M PN @RMAN

aNRIANUD Lmn;;;om’lmgee, (cngoc&qo 2)

ae) silcaaisio qumis AINOIGE Datceow wdamoe C = 80 + 0.6 y, 8degoemany’

dleasalo 1= 50 ammodl.

(a) DL !IEMBAILI Yo HEMENIAEN . (cc&)o@ : D

(b) avaus aITLOOINE! ARG G210BMAe TLAMEN® QeI GHEMHOBND.

(cmpodav’: 3)

(c) ofleattato X 60 caosluleaiss adavlenemiodd avamel® alleiwle)meosym
anBlo HEMAIHN)B. (capod : 1)
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26.

28.
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(1) O] CINNGOROS ONE TLIBOAIIUB LY Ol (eapodav’: 2)
(b)  a@EBOMDONT AVIB 00} AUIMBNUB Salo®) AIARIEOFEE3 Mo cadls
mleon ? {capod : 1)

(c) &0cEoamlm)e eee afleie HBEOANEEMETBUD ag) I . (capodav’: 2)

830) 92103M WeMIgIead GaldBM@hoe OO MAMIlHMaN) :
1 264 g 33

g P=AR=mR
Z
&
0 Output
(a)  coaUOA N®EDIBE 206M2{I5)88 Hc1OE cetsM BBl W) (capod : 1)

(b) @>8lad »oarlaflg)ss  ahemios @QITLOOIET  (AOMVIGOEITTIOE!  £1080

AIR@0QIW] @RYENIM@IMIBB QILAUTVUOGUB GREUI2 @DTINGS &0 H9)S: :

(i)  TLOWOREM EIdEO QAT AILNANT (capodav’: 2)
(il)  @RAVOWOEEM EIOEL AUIEHDROSHNANDY (capodau’: 2)

2@ 9ejMo (TP) worovwod (AP) adlaoam oejmme (MP) eai eazllenss eniawe
€60 2 I@ENOMW Ma0RTOE3 A lUodleC18e)w>.

afler  aqumdesngled  avyeaneatogl  oeods @MY SO  9ej0dH
WPEMIGlOMEaldNel  HaIQ@o0)IN). ALy alleica]odd @ROI alOTYEe AGILEENID).

@epUilvoc/abyeaeangl  Depssy  @pMigload  auvieoal  ALANCUBEHE WD

aflvadle:alan)d.
28 - 30 a0 cansyngled ageom@lene 0eMEINOTIN  DTMOOAPID)d.
§0600a1IM}e 8 capod aflmeo. (erpodav’: 2 x 8 = 16)

2017-18 ®3 RBI @)es @emdo aldd aleMM®@ GRAICEIDGMGIINGS, QoY
NIOERHUBSH) MENAN A MRS 25 Gat0WAF @RSITLOIM T &0

(a) 2)HgElcd a305)ogss @RAMNICE RBL a®)] almMM® Dald:eemadem’

DalcoUila)® ? (capad : 1)

(b) aleMeAIt)e] @RAINUNEIEE RBI 0a10:0Ule9)aN ago@eslele 3 alemm©
DalBHOMEBBINS (AUIBBIDMo 21)0)8 1lQIG)HE)5H. (crpodav’: 6)

(¢) 0oy Ayre@mEBEl@ Al alsMeraIedtilang qudle® mler aldoman-
@Imofl RBI 9aic@ouflan)iam alemm@ 9 nld:@6Mo. (capod : 1)
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29. (a) Write down the identities of calculating GDP of an economy using three

30.

9026

(b)

(c)

(a)

(b)

methods.

(Scores :

There are only 2 producing units, ‘A and B in the economy. Calculate :

@) GVAyp of firm A.
(i) GVA,,p of firm B.

Calculate GDPy,,.

Items
(1) | Sales by tirm A
(i1)) Sales by firm B
(ili) Change in stock of firm B
(iv) Change in stock of firm A
(v) Purchase of raw materials by firm A
(vi) Purchase of raw materials by firm B

(vii) Consumption of fixed capital by firm A & B

(Scores :
(Scores :

(Score :

Amount (X in Crores)
10.000
20,000
2.000
500
5,000
6,000

1.800

Mr. Roy wants to buy rice and milk with the money income of T 200. Its market

prices are Z 10 and Z 5 respectively.
(i) Derive the budget line equation.
(i) Find the slope of the budget line.

(111) Find out horizontal and vertical intercept.

Explain the optimum level of the consumer (Consumer’s Equilibrium) with

suitable diagram.
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(b)

(b)

avmid aIruo@i@s, ‘A, B agamlanem oene 9E{am 0 i esioa

[

T0HY alOW)OMNMA! HINENIBN D

() A’ agm oepsm @pmiglead GVA, ;. (ea‘},)o(am': 2)
| (i) ‘B’ ag)am oejonm @ailgiod GVA, .. - (capodav’: 1)
GDPy,p S:6MEN086)D. “ (qugof& D
gDMo @} (X ¢asiaiiod)
(i) oejsm @;mﬂg’ A @es ailgjm 10,000
(i) oepsmpnig B @jes alejm 20,000
(iil) pepsm wpmlg B wes cusiccmilenss 12,000
@0Qo |
(iv) oepsm wemlg A ®OS cUIeIEGIIE)Ss 500
mogo
(v) oepom @y A ©@OS @RAVCAUI® 5,000
QUMEOROS QOO _
(vi) oepem @l B @S @RIUeqUay® 6,000
QUPIAOBIOS QOO
(vii) pgpam @pmilg A @es®wpe B @psw)e 1,800
aurle @EIMm DalGEINo
al. 600’ 200 @)al AIEOMEINGE @BV AR QUSRS ARWAIEN].

@RAIW)eS alle) WLNoEB:As 10 @)IW)e 5 OJaIAdam.
(i) TURQ ORI TVAIIB Yo TG 06)E.
(i)  snumg eoriafend aldlal @oem)e.

(iii) @anodleroene®d @mdaruaig, eaidsleecd MMBBaTLAIY  apaial
D61 NS08

coa0a limaieand VANV EBEIINS DaIGRIDBD qumeilmoaiocun
AlvoBB0Ee)D.
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